FIEFEHEBEEM KRR YR —XELERERE
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BEER V3R BB FN— K4 ER MRl PR EC8% LR HinixE
[vX4—X]

60m M95 127 0091 & JRKER 97 B X & 19.27 -0.5
60m M85 - 27 1483 TH E 86 B X Kk DNS

60m M80 1 27 0848 g% IE 80 B X Ik 11.28 -0.5
60m M80 - 29 0007 Bk EXx 82 B HT B DNS

60m M75 1 27 1234 #A {817 77 B K K 10.25 +0.9
60m M75 2 27 1347 A} B 7 B X K 10.39 +0.9
60m M75 3 27 0679 ;th¥ ZHiE 8 B X K 10.71 +0.9
60m M75 4 27 0004 EER FIfE 78 8 X K 10.88 +0.9
60m M70 1 27 1437 A #H— 72 B X K 9.25 +0.9
60m M70 2 25 0571 B&# & 4 B 4 B 9.88 +0.9
60m M70 - 27 1328 §EQ ¥E= 73 B X K DNS

60m M70 - 27 1338 #F ®i# 70 B X K DNS

60m M65 1 34 0115 ATH {EF 65 B L B 8.30 -05
60m M65 2 29 0451 %@ EX 66 B T B 8.62 -0.5
60m M65 3 27 1569 & &£ 67 B X KK 8.72 -05
60m M65 4 26 0247 b1l FEB 68 B = & 9.10 -0.5
60m M65 5 27 1449 HAF £= 68 B X KR 9.61 -0.5
60m M65 6 26 0763 Jt%FH & 67 B = # 9.86 -0.5
60m M65 - 27 0364 25 & 65 B K [k DNS

60m M65 - 30 0207 % FAREA 65 B MFul DNS

60m M60 1 25 0568 KiI B— 61 B % E 8.22 -1.7
60m M60 2 27 1595 SR Bl 61 5 X K 8.80 -1.7
60m M60 3 27 0166 /ML Bk 64 B X Kk 8.82 -1.7
60m M60 4 27 1586 BHE #*& 60 8 X Kk 9.05 -1.7
60m M60 5 27 0724 A £ 61 5 XK K 9.58 -1.7
60m M60 - 27 1057 EH =m 64 H X KK DNS

60m M60 - 25 0872 i1ZH & 62 B % =B DNS

60m M55 1 27 1534 %)l 56 B X Kk 8.41 -1.6
60m M55 2 27 1301 fRIE A 5 B X KK 8.49 -16
60m M55 3 27 1621 [uh ;&BR 56 5B X K 8.84 +0.1
60m M55 4 28 1512 #FHFM% BEX 57 B kK E 9.24 -16
60m M55 5 27 1181 K% [t 5 B X IR 9.26 +0.1
60m M55 6 28 1515 K %F 57 B kK E 9.65 +0.1
60m M55 7 28 1513 /vFH &R 57 B K E 9.88 -1.6
60m M55 - 28 1514 Fhr M7 58 B E E DNS

60m M55 - 19 0119 S & 57 B &' H# DNS

60m M55 - 34 0846 EM Z=3h 57 B K B DNS

60m M55 - 24 0508 HAE F 56 B = =F DNS

60m M55 - 28 1516 Il ARk 56 B E E DNS

60m M55 - 30 0688 BE IFX 56 5 FFl DNS

60m M50 1 22 0700 EF ¥ 50 B & & 7.89 +0.8
60m M50 2 27 1369 1EIE FRES 50 B X K 7.89 +0.8
60m M50 3 26 0565 XH WE 54 B = # 7.99 -1.2
60m M50 4 27 0792 BEE =X 50 B X K 8.07 -0.5
60m M50 5 24 0345 [BF BER 53 B = FE 8.09 -05
60m M50 6 27 1159 JnE Rz 54 B X K 8.15 -1.2
60m M50 7 27 0516 &} HiE 53 B X K& 8.20 -0.5
60m M50 8 25 0674 R E— 51 5 % E 8.25 -0.5
60m M50 9 27 1464 ;4E BA 52 B X K 8.31 -0.5
60m M50 | 10 28 1507 JRH %At 50 B K E 8.54 +0.8
60m M50 - 27 1404 ®&EH % 54 B X K DNS

60m M50 - 28 1377 AR# fEA 54 B K E DNS

60m M50 - 29 0389 RA {ExX 53 B H£ B DNS

60m M50 - 19 0287 BEA& 1T 52 B & H# DNS

60m M50 - 35 0600 f2HA & 52 5B W A DNS

60m M50 - 29 0422 J\K FlE 50 B ® B DNS

60m M45 1 27 1182 B4 %X 48 B X KK 7.79 -1.2
60m M45 2 27 1187 KT MW= 46 B X Kk 7.86 -1.2
60m M45 3 27 1445 M| B 47 5 X Kk 7.97 -1.2
60m M45 4 27 1456 JY) #£F 4 B X K 7.98 -1.2
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PR V3R BB FN— K4 ER MRl PR EC8% LR HinixE
60m M45 5 27 1556 #E FHA 45 B X K 8.08 -1.2

60m M45 6 27 1438 ;EH B%& 47 B X K 8.20 -1.2

60m M45 7 28 1356 BKE BB—ER 47 5 E E 8.45 -1.2

60m M45 8 27 1599 EX Sif 47 B XK K 8.55 -1.2

60m M45 - 27 1374 188 I 48 5 X Kk DNS

60m M45 - 27 0943 i B 48 B X Kk DNS

60m M40 1 28 1121 A% & 0 B K E 7.26 -1.1 KE&H
60m M40 2 28 0961 t&ME 1#{E 41 5 E E 7.42 +0.6

60m M40 3 27 1195 BHH #% 43 B X K 7.66 -1.1

60m M40 4 27 1165 k% TE 44 B X KR 7.75 -1.1

60m M40 5 28 1431 Jt¥ EEBH 41 g5 E E 7.78 +0.4

60m M40 6 30 0893 &H& f{fs% 43 B  FEW 7.82 +0.6

60m M40 7 26 0641 {kgk f@i% 0 B = & 7.83 +0.6

60m M40 8 28 1433 /MR FAR 41 5 E E 7.93 -1.1

60m M40 9 27 1318 WA [ 42 8 X Kk 7.95 -1.1

60m M40 10 28 1434 # 1L %3h 42 5 E E 8.07 +0.6

60m M40 | 11 26 0682 IR Bk 4 B = & 8.26 +0.4

60m M40 | 11 28 1435 RiE EME 41 5 E E 8.87 -1.1

60m M40 | 12 26 0803 @ F= 42 B = & 8.32 +0.6

60m M40 | 13 27 1517 JIA 8% 4 B X K 8.46 +0.4

60m M40 | 15 28 1432 thE =IE 2 B K E 9.27 -1.1

60m M40 - 38 0604 FTMH {EA 41 5 ZE B DNS

60m M35 1 27 1598 A = 35 8 X Kk 7.40 -0.7

60m M35 2 35 0562 UK & 39 B W oo 748 -0.7

60m M35 3 27 1401 B[R 1E#t 35 B X K 7.77 -0.7

60m M35 4 26 0636 /NIl EA 37 B = # 8.03 -0.7

60m M35 - 27 1413 Wl &Xx 39 8 X Kk DNS

60m M35 - 27 1518 W/l X 39 B X K DNS

60m M35 - 27 1384 Jdvl@ st 36 B X Ik DNS

60m M30 1 27 1503 kFE ## 31 5 XK K 8.05 +0.2

60m M30 - 27 1476 ®iA B+t 33. B X K DNS

60m M25 1 27 1481 |lUH E4% 25 B X K 7.59 +0.2 KEHIZRLEHF
60m M25 - 28 1400 H+F £t 29 B K E DNS

60m W85 1 29 0390 st Iv=x 86 @ww T B 13.52 -15 KEHIRELEHF
60m W80 1 25 0180 WA XF 83 & % =B 14.79 -15 KEFIFREER
60m W75 1 29 0430 #@A Y/F 16 Z« HT B 10.78 -15

60m W75 2 25 0383 =Rl EXF 716 & @ B 11.37 -15

60m W70 1 27 1427 B# #HF 71 Z X IR 12.04 -15

60m W60 1 34 0864 AfH #=FHKX 63 %X K B 11.61 -1.5 KEFIERERER
60m W45 1 24 0509 PR AAfdF 45 H = = 9.06 -09 K&H
60m W45 2 27 1623 HF BEE 45 X K IR 11.65 -0.9

60m W45 - 25 0312 KiI HF 48 T % B DNS

60m W40 1 28 0908 /\Z& #)= 2 L kK E 8.51 -04 K&H
60m W40 2 27 1378 =% =& 4 X K K 8.55 -04 KI¥F-KE#H
60m W40 3 28 1258 RO X&EB 43 X & E 8.93 -04 KEH
60m W35 1 26 0737 /ME =R Y 8.39 -04 K£H
60m W35 2 28 1259 ©fA EF 38 L K B 8.99 -04 KEH
60m W24- | 1 27 1626 %H K& 24 & K IR 8.47 -0.4

100m M75 1 27 1234 #HFAX {817 77 B X K 16.89 +0.7

100m M75 2 27 1341 AR & 7 B X K& 16.89 +0.7

100m M75 3 27 1495 BE % B B X K 16.94 +0.7

100m M75 4 27 0679 ;hE ZHiE 18 B X K 17.57 +0.7

100m M75 5 27 0004 EEK FfE 78 B X Kk 17.64 +0.7

100m M75 6 27 1538 =i Zsh B B X K 19.07 +0.7

100m M75 - 27 0479 2 BE 76 B X ik DNF +0.7

100m M70 1 27 1338 ;#F R 707 B X K 14.42 +05 K&H
100m M70 2 27 0224 FEH ¥— 73 B X K 15.21 +0.5

100m M70 3 25 0571 B & 4 B % B 15.86 +0.5

100m M70 - 27 0801 $iK #¥ih 70 B X K& DNS

100m M65 1 34 0115 A/A {EF 65 B L B 13.17 -08 K&
100m M65 2 29 0451 #t[E EX 66 B T B 13.75 -0.8
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100m M65 3 26 0247 EIL [EBA 68 B = # 14.02 -0.2
100m Mé5 4 27 1569 ;EE ME 67 B X Kk 14.08 -0.2
100m M65 5 27 1066 EEE #®X 66 H X KK 14.15 -0.8
100m M65 6 30 0207 [ EARER 65 B  #Fxw 14.43 -0.8
100m M65 7 27 0364 B & 65 B X KK 15.15 -0.8
100m M65 8 29 0164 %k 15— 65 B T B 15.16 -0.2
100m M65 9 27 0777 #K EA 69 H X KK 15.47 -0.2
100m M65 10 27 1449 HAF £= 68 B X Kk 15.49 -0.2
100m M65 | 11 26 0763 JtBF & 67 B = # 16.15 -0.2
100m M65 - 25 0297 #F IE= 65 B & B DNS

100m M60 1 25 0568 KiI B— 61 5 #% E 13.08 -15
100m M60 2 26 0167 {EMA #& 64 B = # 13.50 +0.7
100m M60 3 27 1595 &R Bl 61 B X K 13.96 -1.5
100m M60 4 27 0166 /ML Bk 64 B X Kk 14.23 -15
100m M60 5 27 1057 EH =Ml 64 B X KK 14.34 +0.7
100m M60 6 27 1372 BER ¥— 64 B X KK 14.68 +0.7
100m M60 7 25 0872 iFMA ¥ 62 5 #% E 15.09 -1.5
100m M60 8 27 1452 #ME E% 61 5 XK K 15.67 -15
100m M60 - 27 1274 X Wi 64 B X IR DNS

100m M60 - 14 0476 HFEH —% 62 5 #E DNS

100m M60 - 28 0184 feR EBE= 62 B K & DNS

100m M55 1 19 0119 S % 57 B & # 13.19 +1.8
100m M55 2 27 1534 ¥ # 56 8 X Kk 13.32 +1.8
100m M55 3 27 1301 fRIE BEA 5 B X KK 13.44 +1.8
100m M55 4 27 0329 [EER A 57 8 X Kk 13.54 +1.8
100m M55 5 27 1465 [F@E £ 57 B X KK 13.80 +1.8
100m M55 6 27 1202 /MK =EA 56 5B X K 14.08 +1.8
100m M55 7 27 1366 /& FA 5 B X K 14.09 +1.8
100m M55 8 27 1451 EH M= 57 8 X Kk 14.31 +1.8
100m M55 - 24 0508 FHHE F 56 B = =F DNS

100m M55 - 30 0688 BE IFX 56 5 FFkl DNS

100m M50 1 26 0565 ZFH E 54 B = # 12.79 +1.9
100m M50 2 27 1159 MRk BEz 54 8 X Kk 12.85 +1.9
100m M50 3 27 1369 5l FRES 50 B X KK 12.88 0.0
100m M50 4 27 0792 BEE =X 50 B X IR 12.91 0.0
100m M50 5 25 0674 = 51 B % E 12.92 0.0
100m M50 6 27 0516 & WE 53 B X K 12.96 -0.6
100m M50 7 26 0560 ML E— 53 B = #B 12.99 -0.6
100m M50 8 24 0345 ¥ HBR 53 B = & 13.00 -0.6
100m M50 9 29 0422 J\KX FIzE 50 B £ B 13.40 0.0
100m M50 10 27 1464 #HE BA 52 8 X Kk 13.42 0.0
100m M50 | 11 28 0904 HA[H #th 52 B K E 14.00 -0.6
100m M50 | 12 28 1377 KR# fEA 54 B K E 15.18 +1.9
100m M50 - 27 1404 #EHE % 54 B X KK DNF

100m M50 - 27 1237 INEF EA 54 B X K DNS

100m M50 - 29 0389 RAE &N 53 B £ B DNS

100m M50 - 27 1519 /N {E2 52 B X K DNS

100m M50 - 35 0600 {2H St 52 B W 0 DNS

100m M45 1 40 0688 £if & 47 B #® [ 12.00 -0.2
100m M45 2 27 1182 Bf #W 48 B X KK 12.05 -0.5
100m M45 3 28 0782 &\ #z 5 B K E 12.10 +15
100m M45 4 27 1263 UM IEF0 49 B X K 12.12 -0.2
100m M45 5 28 0821 &H H—B8 46 B E [E 12.17 +15
100m M45 6 27 1187 KT M= 46 B K K 12.46 +1.5
100m M45 7 27 1445 NI B 47 B X Kk 12.48 -0.5
100m M45 8 27 1556 #¥E FHH 45 B X K 12.62 +1.5
100m M45 9 27 1456 /Y] #=E 47 B X Kk 12.76 -0.5
100m M45 10 28 1443 A H 45 5 E E 13.04 -0.5
100m M45 11 28 1356 HE BB—H8 47 B kK E 13.21 -0.5
100m M45 12 27 1438 JEH BE& 47 B X K 13.30 -0.5
100m M45 13 27 1582 PRA {Ef 4 B X K 13.36 +15
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100m M45 14 27 1599 @A B 47 5 X Kk 13.43 +1.5
100m M45 15 28 0836 H™ 45 B E E 13.61 -0.2
100m M45 16 26 0637 FF% KER 46 B = O# 14.09 +15
100m M45 | 17 26 0649 fhAk =% 45 B = & 14.36 +15
100m M45 - 27 1374 88 48 B X KK DNS

100m M45 - 27 0943 3iE B 48 B X Kk DNS

100m M45 - 18 0344 XM HR*E 47 B H I DNS

100m M40 1 28 1121 A% & 409 B K E 11.41 +03 KE£H
100m M40 2 28 0961 #HA 1HIE M g5 E E 11.89 +0.3
100m M40 3 29 0417 Hxk 18 4 B £ B 11.97 +0.1
100m M40 4 28 1276 N =E 3 B K E 12.05 +0.6
100m M40 5 27 1165 k% xT=E 44 B X KR 12.17 +0.6
100m M40 6 27 1195 ;BH #% 43 B X IR 12.17 +0.6
100m M40 7 28 1431 Jb%F EEBH 41 5 E E 12.18 +0.6
100m M40 8 27 1536 ¥ EE 41 8 X Kk 12.21 -1.6
100m M40 9 27 1395 #EA & 40 B X K 12.26 +0.3
100m M40 10 28 1433 /MR BAR 41 g5 E E 12.48 -1.6
100m M40 | 11 27 1318 BB [F 2 B X K 12.49 -1.6
100m M40 | 12 26 0641 {kiE {5 0 B = & 1251 +0.3
100m M40 | 13 30 0893 =& {f= 43 B  FEW 12.65 +0.6
100m M40 | 14 28 1434 il shA 2 B K E 12.81 -1.6
100m M40 | 15 26 0473 HH F7F 43 B = & 12.90 +0.6
100m M40 16 27 1509 stN BJA 41 8 X Kk 12.92 +0.3
100m M40 | 17 27 1312 BHEH 2—8 4 B KX [k 13.02 +0.1
100m M40 | 18 26 0807 # =& 40 B = & 13.02 -16
100m M40 | 19 26 0803 g IF= 42 B = # 13.31 -1.6
100m M40 | 20 27 1573 # &1T 43 8 X Kk 13.32 +0.6
100m M40 | 21 27 1517 JUN &% 4 B X K 13.34 +0.1
100m M40 | 22 27 1574 HE EH 40 5 X K 13.36 +0.3
100m M40 | 23 28 1217 IRA &— 4 B kK E 13.52 +0.1
100m M40 | 24 28 1147 HE & 4 B K E 13.55 +0.1
100m M40 | 25 26 0815 ZEH i 4 B = # 13.64 +0.1
100m M40 | 26 28 1435 Kk X 4 5 E E 14.16 +0.1
100m M40 - 38 0604 ETMH {EA 41 5 ZE B DNS

100m M35 1 27 1329 "H TF 39 8 X Kk 12.35 -0.9
100m M35 2 26 0636 /NIl EA 37 B = # 12,57 -0.5
100m M35 3 27 1600 #HE IEX 36 8 X Kk 12.81 -0.5
100m M35 4 27 1478 IHE HE 39 B XK K 12.96 -0.9
100m M35 5 26 0648 ¥EH EA 37 B W & 13.33 -05
100m M35 6 27 1591 XKit E+ 39 B XK K 15.08 -0.9
100m M35 - 27 1518 Wl K 39 8 X Kk DNS

100m M35 - 27 1384 dvlE iE4E 3 B X K DNS

100m M35 - 27 1399 {EAE 35 8 X Kk DNS

100m M35 - 27 1361 =& E— 35 B X K DNS

100m M30 1 27 1608 =H @#H 30 8 X Kk 11.79 +1.1 K&
100m M30 2 27 1524 % EA 31 g X KR 11.98 +1.1
100m M30 3 27 1476 ®HiH Bt 33 B XK K 12.05 +1.1
100m M30 5 27 1503 KR Wt 31 5 XK K 12.82 +1.1
100m M30 6 28 1508 AL 11T 34 5 E E 13.24 +1.1
100m M30 7 28 1396 A H— 34 5 E E 13.47 +1.1
100m M25 1 27 1481 LA EXE 25 B X Kk 11.92 +0.1
100m M25 - 28 1400 Hd 8% 29 B kK E DNS

100m W80 1 25 0180 LA XF 83 & % =B 25.97 +0.8
100m W75 1 29 0430 #%@A Y/F 16 %X xT= B 17.49 +0.8
100m W75 2 25 0383 =Rl EXF 16 & @ B 19.25 +0.8
100m W70 1 29 0027 AR BA 1 & ¥ B 17.44 +0.8 K&
100m W70 2 27 1427 B BF 71 K R 19.77 +0.8
100m W55 1 34 0317 B "F 58 & K B 16.43 +0.8 KEHIZKLEH
100m W55 - 27 1363 ¥ E BBF 57 & K Ik DNS

100m W50 1 34 0455 RE EBF 52 %X K B 14.66 +0.8 KE44
100m W50 2 28 1099 AR BAF 52 & RK & 15.33 +0.8
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100m W45 124 0509 PR HfEF 45 H = & 14.75 +0.8 KE#H
100m W40 1 27 13718 =% & 41 X K K 13.64 +0.8 K&
100m W40 2 28 0908 \E #= 42 T E E 13.90 +08 K&H
100m W40 3 28 1258 RO X&EB 43 X E E 14.35 +08 K=
100m W40 4 28 1191 KA kK&K 43 T E E 14.66 +08 K&H
100m W40 5 28 1405 BE BAF 41 zx E E 14.96 +0.8

100m W35 1 26 0737 /pMF EWR 37 & H® 13.30 -01 K&H
100m W35 2 28 1259 ©fH X=F 38 T KR & 14.41 -0.1

100m w24-| 1 27 1626 %EH K& 24 T K I 13.65 -0.1 K&BIEREDER
200m M80 1 33 0206 EFi& [Eth 81 B M W 4256 +1.3

200m M75 1 27 1495 =& %% 5 B XK K 36.99 +1.3

200m M75 2 27 0004 HEK FIfE 78 B X KR 38.83 +1.3

200m M75 3 27 0679 ;hE HiE 78 B XK K 39.16 +1.3

200m M75 - 27 0479 E¥ BE 76 B K K DNS

200m M70 1 27 0224 FF = 73 8 X Kk 33.17 +1.3

200m M70 - 27 0801 #Hik ##ih 70 B X K DNS

200m M65 1 29 0451 ¥FE ERX 66 B T B 28.58 +0.6

200m M65 2 27 1569 Ei& L 67 B X KK 28.79 +0.6

200m M65 3 26 0247 bl EBA 68 B = # 29.02 +0.6

200m M65 4 27 1066 EE #k 66 HF X K 29.25 +0.6

200m M65 5 27 0072 Ef# #B*X 67 8 X Kk 30.94 +0.6

200m M65 6 29 0164 &k 15— 65 B T B 31.56 +0.6

200m M65 7 27 0777 #K EBA 69 B X Kk 32.73 +0.6

200m M60 1 26 0167 {&MH #¥ 64 B = # 28.05 +0.6

200m M60 2 27 1595 BF El& 61 8 X Kk 28.43 +0.6

200m M60 3 27 1057 EH ZHml 64 B X KK 29.76 +0.6

200m M60 4 27 0587 #%F HA| 63 8 X Kk 30.39 +0.6

200m M60 5 27 1372 BR ¥— 64 B X I 31.49 +0.6

200m M55 1 28 1102 #HAT HH{Z 57 5 E E 26.55 +1.8

200m M55 2 27 1534 ¥ # 5 B X K 27.05 +1.8

200m M55 3 19 0119 M % 57 B &' # 27.56 +1.8

200m M55 4 27 1301 fRIE B&A 5 B X KK 28.25 +1.8

200m M55 5 28 0417 AR HE 58 B K E 29.06 +1.8

200m M55 - 27 1202 /MK ER 56 B X K& DNS

200m M55 - 24 0508 FMA F 56 B = B DNS

200m M50 1 25 0674 - 51 B % E 26.41 +1.5

200m M50 2 27 0516 & HWE 53 B X K 26.47 +1.5

200m M50 - 26 0565 ®H ¥E 54 B = # DNS

200m M50 - 27 1464 HHA BA 52 B XK IR DNS

200m M45 1 28 0782 %8 B2 45 B kK E 24.03 +0.8 K&H
200m M45 2 27 1263 lUA EF 49 8 X Kk 25.01 -0.3

200m M45 3 27 1556 #E FH 45 B X K 25.59 +0.8

200m M45 4 25 0815 {25 @+t 46 5 % E 25.68 +0.8

200m M45 5 28 1356 ME BB—HF 471 B E E 26.44 -0.3

200m M45 6 26 0637 ¥FE KER 46 B = & 30.03 +0.8

200m M45 - 13 2321 Ei§ Bt 4 B B H DNS

200m M45 - 40 0688 ZFif B 47 B &£ M| DNS

200m M40 1 28 1121 E% & 0 5 kK E 23.50 +0.9 K&H
200m M40 2 27 1536 ¥ E=E 41 8 X Kk 2434 +0.9

200m M40 3 29 0417 Fxk 18 4 B £ B 24.41 +0.1

200m M40 4 28 1276 Wik ZTE 3 B K E 2453 +0.1

200m M40 5 27 1195 ;fH 8% 43 B X K 24.66 +0.9

200m M40 6 27 1395 #EA & 40 B X Kk 24.89 +0.9

200m M40 7 27 1312 AH £—5 44 5 X Kk 2753 +0.1

200m M40 8 27 1613 K& & 3 B X K 27.94 +0.1

200m M40 - 28 1147 BB & 4 B kK E DNS

200m M40 28 0961 1#ME {815 a1 B kK E DNS

200m M40 - 22 0913 % EE{E 40 B T M@ DNS

200m M40 - 26 0641 {£@ {85% 40 B = #B DNS

200m M35 1 35 0562 LUK &R 39 B Wy o0 23.24 +3.1 (BEZ5)
200m M35 2 26 0636 /NIl EA 37 B m & 25.70 +3.1 GHEZE)
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PR V3R BB FN— K4 ER MRl PR EC8% LR HinixE
200m M35 3 27 1478 EF HE 39 B X K 26.12 +3.1 (BES%E)
200m M35 4 27 1600 A IEX 3 B XK KR 26.47 +3.1 GHRZ%)
200m M35 - 27 1329 ¥@E TE 39 8 X Kk DNS

200m M35 - 27 1384 dvl@ s 36 B X R DNS

200m M35 - 27 1399 fEA ¥ 35 B X Kk DNS

200m M30 1 27 1608 =H #5H 30 B X Kk 23.84 -06 K&
200m M30 2 28 1262 5Ajk H# 33 B K E 24.44 -0.6

200m M30 3 28 1508 AL 11T 34 5 E E 26.93 -0.6

200m M30 - 27 1503 KR8 0t 31 F XK KR DNS

200m M25 - 28 1400 Hd £t 29 B kK & DNS

200m W70 1 29 0027 AR BE 1 & FT R 37.56 -1.4

200m W60 1 26 0592 HJI| #BF 60 Z T #B 31.94 -1.4 K&BIERERER
200m W55 - 27 0977 =@k BAZE 58 & K IR DNS

200m W50 1 34 0455 RE EBF 52 %« K B 30.57 +13 K&H
200m W50 2 27 1540 AHE #F 5 & K I 37.92 +1.3

200m W45 - 24 0509 PR HHF 45 & = = DNS

200m W40 1 28 1405 EF BF 41 T E & 31.48 +1.3

300m M50 1 27 0996 —& — 51 B K Ik 55.73

400m M70 1 28 0803 F/# Bk 73 B E E 11419

400m M70 2 27 0224 FE E= 73 5 K R 12505

400m M65 1 27 1240 B =X 66 B KX Bk 1.06.63 XEH
400m M65 2 27 1066 BB #X 66 5 K Bk 10848

400m M65 - 27 0228 Bffl = 67 5B X I DNS

400m M65 - 25 0297 #@EFT NE= 65 B % E DNS

400m M60 1 27 0587 #%% HA| 63 B X Bk 10848

400m M60 2 27 0724 A B 61 5 X K& 11633

400m M60 - 27 1274 &KX g 64 B X IR DNS

400m M60 - 28 0184 R E= 62 5 E E DNS

400m M55 1 28 1189 X% % 58 B K& [E  1.05.61

400m M55 2 28 0417 H&K HE 58 B & &  1.07.56

400m M50 1 36 0408 &=k I1Eif 54 B & B  1.06.11

400m M45 1 28 0782 %8 B2 45 B kK E 53.18 REH
400m M45 2 26 0531 FlA % 46 B = & 57.03

400m M45 3 14 1392 /NI FTZ 48 B Mz 1.00.24

400m M45 4 26 0649 AR =& 45 B W #  1.07.28

400m M45 - 27 1263 LA IEM 49 B X K DNS

400m M45 - 27 0943 FHi¥5 R 48 B X KR DNS

400m M45 - 40 0688 Fif B 47 B & [ DNS

400m M40 1 45 1262 LuA 18—EF 41 B B K 53.75

400m M40 2 29 0417 ik 1B 4 B £ B 56.06

400m M40 3 27 1585 H® IEA 42 B X IR 56.53

400m M35 1 35 0562 UK &R 39 B W oo 51.77 REH
400m M35 2 27 1424 ZLH E— 35 B XK B 1.0211

400m M35 - 27 1615 i BAER 39 B X K DNS

400m M35 - 27 1399 {EAE 35 B X Kk DNS

400m M30 1 28 1262 gk il 33 B kK E 53.07 REFH
400m W60 1 26 0592 FJIl #8F 60 & W #  1.1248 SRR
400m W50 1 34 0455 RE HEEF 52 X Ji B 10821 A=EIREC R
400m W24- [ 1 27 1626 %:H K& 24 & K BR_ 1.06.59 ASBIFEELER
800m M75 - 27 0958 #Z#F T =HE 77 B X Ik DNS

800m M70 1 28 0803 F# #X 713 B E E 30440

800m M65 1 25 0297 &%t = 65 B # B 23725

800m M65 2 26 0634 %A FX 67 B = # 25524

800m M60 1 27 1450 &% & 64 B K B 23817

800m M60 2 27 0587 #E HA 63 B X IR 24648

800m M60 3 26 0112 #EH &% 62 B = #  3.1041

800m M55 1 26 0499 /& %3 55 B = # 21586 XEH
800m M55 2 28 1189 KE & 58 B E E 22764

800m M55 3 27 1103 /MfE HA 59 5 K IR 25427

800m M50 1 27 1459 BN 23 51 B K R 22608

800m M50 2 27 1408 )il HiFd 50 B K B 22616
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FIEFEHEBEEM KRR YR —XELERERE

B BeIs | ARR AT AR BB ek i Bk b 54545 (273090) # B:TH21F6A27H (1)

PR V3R BB FN— K4 ER MRl PR EC8% LR HinixE
800m M50 - 36 0408 FHk IEHf 54 B # B DNS

800m M50 - 28 1521 A0 WFE 50 B EKE & DNS

800m M45 1 26 0531 1A =& 46 B = & 21207 XEH
800m M45 2 28 0778 A0 % 45 B K E 21567 XEH
800m M45 3 28 1323 % EH 45 B E E 21616

800m M45 4 28 1439 A fli— 45 B K E 21843

800m M45 5 26 0743 3/ KA 49 B = # 24288

800m M40 1 27 1585 Hf IEA 42 B X Bk 20940

800m M40 2 28 1242 JEER fEAKER 44 B E [E 21365

800m M40 3 27 1505 & X 4 B X B 21530

800m M40 4 27 1537 A+ @z 41 B KX B 22058

800m M40 - 28 0848 WUF [{HE 43 B E E DNS

800m M35 1 27 1627 db& #HiE 35 B K PR 21305

800m M35 - 27 1460 fOH #E*k 36 B X Kk DNS

800m M30 1 28 1266 % BAE 33 B K E 21111

800m W75 - 27 0886 #i[E FF 79 . K R DNS

800m W60 1 27 0789 ;EH #£AF 60 & K IR 35279 ALBIEREC R
800m W35 1 27 1447 HP LOS 36 Z K B 24524 AEF
1500m M80 - 27 1166 HIE =& 80 B X Ik DNS

1500m M75 1 26 0094 f2A M= 75 B W # 61180 RE#H
1500m M75 - 27 0958 #FTF =515 77 B X Ik DNS

1500m M65 1 27 1250 R X 65 B K R 54282 REFH
1500m M60 1 27 1450 HE T 64 B X IR 52679

1500m M60 2 27 0487 B[R FEME 61 B X Bk 53771

1500m M60 - 26 0190 & —z 64 B = # DNS

1500m M55 1 27 1455 ;& ZHEf 58 B K Bk 556.78

1500m M55 - 2 0444 TN EZ 5 B F & DNS

1500m M50 1 25 0670 B 3tk 50 B # B 43976

1500m M50 2 27 1459 B # 51 B K K 51096

1500m M50 3 27 0949 AE HFP 52 B X I 51474

1500m M50 4 28 1072 =% XE 52 B K [E 55380

1500m M45 1 26 0531 F1H %= 46 B = # 43270

1500m M45 2 28 1323 4 [EH 45 5 E E 43520

1500m M45 3 28 1439 TH fi— 45 B E E 43172

1500m M45 4 13 3413 tHE FEA| 47 5 HE H® 50154

1500m M45 5 28 1384 M = 45 B E E 50238

1500m M45 6 28 1224 (K% IF& 49 B K [E 50375

1500m M45 7 26 0743 3/ KA 49 B = # 50835

1500m M45 8 27 1048 ®IEF 1&— 48 B X B 5.16.58

1500m M40 1 28 1365 Ak ER 43 B K E 42704

1500m M40 2 28 0848 IUT fH&E 43 5 E E 43104

1500m M40 3 28 1242 [BHR EKER 44 B & [E 43957

1500m M40 4 27 1505 ¥ X 4 B X B 44365

1500m M40 5 27 1537 A+ {#z 41 B X R 45292

1500m M40 6 28 1432 hE EI 42 B K [E 51058

1500m M40 7 27 1412 ¥EE 04t 40 5B X B 5.18.04

1500m M40 8 26 0821 L E# 42 B ® # 52417

1500m M35 1 28 1509 B K 38 B K E 43381 AR
1500m M35 2 27 1627 dt¥ BB 35 B K B 44213

1500m M35 - 27 1615 i BAER 39 B X K DNS

1500m M35 - 26 0648 ¥EH EA 37 B = A DNS

1500m M30 1 28 1262 iAgk Hil 33 B K [E 42583 AEH
1500m M30 2 28 1266 ¥ BAE 33 B K E 45093

1500m W75 1 27 0886 #\@ FF 79 & K R 75231

1500m W55 - 27 1363 ¥ .E BRF 57 & K Ik DNS

1500m W50 1 27 1266 2K BAF 53 & K Br_ 5.38.72 SEIEREEER
1500m W45 127 1491 AN E@#E 45 & K R 64513

1500m W35 1 27 1447 A LS 36 & K R 53247 A=
3000m M80 - 271166 FHIE HE 80 B X ik DNS

3000m M75 1 260094 f8H B= 75 B W # 133520 AEH
3000m M70 1 270176 IHHA =i 71 B X I 121021
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FIEFEHEBEEM KRR YR —XELERERE

B BeIs | ARR AT AR BB ek i Bk b 54545 (273090) # B:TH21F6A27H (1)

PR V3R BB FN— K4 ER MRl PR EC8% LR HinixE
3000m M70 2 271511 f@H E=E 71 B KX Bk 151027

3000m M65 - 271250 R &R 65 B X I DNS

3000m M60 1 271174 LEE Bk 63 B X Bk 114732

3000m M60 2 270487 HEER FEE 61 B X B 122840

3000m M60 3 271498 ¥ %8R 63 B K P 123218

3000m M60 - 260190 W& —2 64 B = # DNS

3000m M55 1 271204 i R 56 B X B 10.44.08 XEH
3000m M55 2 271455 i HE# 58. B XK B 122975

3000m M55 3 240095 FEIE IEA 58 B = & 125723

3000m M55 - 271103 /P EA 59 B X Kk DNS

3000m M55 - 270915 UA& &K 56 8 X K DNS

3000m M50 1 25 0670 ZEiF b3 50 B # & 94675

3000m M50 2 27 1463 /NEH FE— 50 B X B 100216

3000m M50 3 270949 HWH HH 52 B XK PR 104643

3000m M50 4 27 1459 BB = 51 B X B 115510

3000m M50 5 271544 AT & 53 B KX R 124682

3000m M50 - 281072 =% XE 52 B K E DNS

3000m M45 1 260456 =%4f f12h 47 B = # 95895

3000m M45 2 280778 A0 X% 45 5 & E 102014

3000m M45 3 133413 tH =8| 47 B ® J®E 10.36.65

3000m M45 4 28 1224 {£% F& 49 B K [E 104862

3000m M45 5 281384 FH =E 45 B E E 110607

3000m M45 - 271612 MHE A 47 B X Kk DNS

3000m M35 1 271531 dh)il —%&F 36 B K Bk 95859 SRR iR
3000m M30 1 271530 FHH #&F 31 B X Ik 94148 KB - KELH
3000m M25 1 271527 iR @K 25 B K R 1041.75 SEIEREEER
3000m W70 - 271427 B BF 71 Z XK R DNF

3000m W60 1 270789 ;EHE #£AF 60 Z K PR 16.04.93

3000m W55 - 271363 ¥ E BRF 57 @& K Ik DNS

3000m W50 1 271540 FAHA #F 52 % K MR 12.20.05 SRR iR
3000m W35 1 271447 HB LOA 36 * X R 120527 AR EFHET
5000m M55 1 270983 E#Y BBXRER 55 B K [ 18.46.61

5000m M55 - 270915 UA &% 56 B X Ik DNS

5000m M50 1 250670 EB& 3tk 50 B % E 163350 K&
5000m M50 2 271462 B ER 50 B XK Bk 17.06.78

5000m M50 3 270949 A HFE 52 B KX xR 18.02.16

5000m M45 1 281224 A% E= 49 B K [E 184273

5000m M45 2 271048 FRiI% 1&— 48 B K MR 19.34.61

5000m M40 1 271364 HHE FER 43 B X B 16.49.18

5000m M40 2 260820 Tk #Ft 44 B W # 171218

5000m M40 3 260823 #FHMA FEig 44 5B W # 183122

5000m M40 4 27 1412 KEM %048 40 B XK B 19.21.61

5000m M40 5 28 1435 RHE B 41 5 E E 204091

5000m M35 1 260788 A—h'74 v4h, 35 B W #B 17.0258 X=H
5000m M35 2 271531 du)il —%& 36 B X B 173529 XEH
5000m M35 3 26 0648 #EE EA 37 B = # 202573

5000m M25 1 271527 /IR @BX 25 B XK PR 18.20.05

5000m W45 1271491 NA EmH#L 45 L KX B 232875

80mH M75 - 300001 Bt &5+ 77 B #Fb DNS

80mH M70 1 260039 #f%r 5AAR B W O# 15.20 +0.3 KE#H
80mH M70 - 260732 $H —+< 73 B W £ DNS

80mH W45 1 250312 KiT HEF 48 & #H B 15.11 -1.6 K&H
100mH M60 1 271294 EBEX B4 60 5 X Kk 16.60 -10 K&H
100mH M55 1 271348 &K #GA 5 B X KK 18.58 +1.4 KBR¥-K<H
100mH M55 2 271366 /& Fn 5 B X k& 23.97 +1.4

100mH M50 1 270728 % Esh 50 B X Kk 15.49 +1.1 KBR¥F-K<H
100mH M50 2 220700 FEF %4 50 B & M 15.54 +1.1 KEH
100mH M50 3 26 0600 HHIE % 51 B m 15.80 +1.1

100mH M50 4 260560 M@ 2= 53 B = A 16.20 +1.1

100mH M50 5 240345 BE KR 53 B =Z & 16.74 +1.1

100mH M50 6 271550 thiH FHHA 50 B X Kk 18.00 +1.1
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FIEFEBEEMRRRTAEI—ELER RS

St HR 35 - KRR T AR 50 ekt e b 3 4335 (273090) #H  H:ER27F6827H (LX)
PR V3R BB FN— K4 ER MRl PR EC8% LR ks
100mH M50 - 211181 PB§ #xk 53 5B &% M DNS
110mH M45 1 26 0836 LU FEsA 46 B = & 16.67 +0.4 KEH
110mH M45 2 260797 & E 46 B = O# 27.31 +0.4
110mH M45 - 13 2321 BEf Bth 46 B ®H K DNS
110mH M40 1 250821 FFE %% 43 B % B 15.67 +0.2
110mH M40 2 281522 |LUME f## 2 B E E 16.17 +0.2
110mH M40 3 271318 @A E 42 B X K 18.75 +0.2
110mH M40 4 281495 THRR FH 41 5 E E 2223 +0.2
110mH M40 - 281414 1 =5 43 B K E DNS
110mH M35 - 250907 A XE 39 B & B DNS
300mH M65 1 270072 BE&E BX 67 B KX &k 56.74
300mH M65 - 270228 Bfid = 67 B X I DNS
300mH M60 1 250568 XiI B— 61 5 % =B 47.45 XEH
300mH M60 2 140476 HH —% 62 B =] 52.84
300mH M60 | - 271274 EHX HE 64 B KX R DNS
300mH M60 - 271372 ER F— 64 B X I DNF
400mH M55 1 271366 /& E=H 55 B XK Bk 12444
400mH M50 1 270728 #%E Bsh 50 B X K 59.54 KR -K=H
400mH M50 2 271550 i FHE 50 B X Br_ 1.15.25
400mH M45 1 260836 U EEsA 46 B = #  1.01.83 A&
400mH M45 2 250815 {EE #+t 46 B # E 10253 XEH
400mH M45 3 221129 ki KiE 4 B Z H 10352 AEH
400mH M45 4 100726 E& B 48 B B B 10821
400mH M45 5 260797 138 = 46 B W #  1.2855
400mH M40 1 220913 %% EEfE 40 5B Z X 1.03.98 AEH
3000mW M75 1 300847 FEHE = 79 B #IuL 242197
3000mW M75 2 260314 AR BEZBR 77 B I #B 245841
3000mW M60 1 260069 :FK 62 B = # 182583
3000mW M60 2 271283 {R® &— 60 B XK Bk 193574
3000mW M55 1 30 0906 4 3=8) 58 B Fn¥ul  18.03.68
3000mW M55 2 240732 {kR JE— 59 B = & 18.39.22
3000mW M50 1 27 1044 i)l $#H+ 54 B X B 17.15.04
3000mW M50 2 28 1215 JIAt E#t 50 B K [E 175529
3000mW M50 3 28 1072 =%¢ NE 52 B K E 205475
3000mW M45 1 28 0778 &0 % 45 5 K E 163846 RXEH
3000mW M45 2 27 1048 RHi% 1&— 48 B X R 17.27.18
3000mW M45 3 27 1136 ¥AK ;E— 45 B K PR 19.15.92
3000mW M40 1 230344 ZHZHE £ 42 B Ik B 220151
3000mW W50 1 290429 M Efh# 51 Z T B 185267 SRR
[— #])
60m M50 1 50 0052 =R T 52 B — & 8.92 -1.2
60m M50 2 50 0069 ;&I IEA 51 5 — 9.01 -1.2
60m M50 3 50 0059 FEEF Ek 53 B — #& 9.21 -1.2
60m M45 1 50 0115 FHRE —ER 46 5 — & 8.09 -1.2
60m M45 2 50 0081 H™ 7] 49 B -1 8.29 -1.2
60m M45 3 50 0055 Atk EFE 464 5B — % 8.60 -1.2
60m M45 4 50 0108 Jllim ;Z— 47 B — & 8.77 -1.2
60m M45 5 50 0054 WUH LT 45 B — B 9.63 -1.2
60m M40 1 50 0078 & FAER 43 B — fg 8.45 +0.4
60m M40 2 50 0060 kA R 42 5 — & 8.75 +0.4
60m M40 3 50 0100 BF F#EH 40 B -1 8.99 +0.4
60m M40 4 50 0053 fE& Fnsm 41 5 — & 10.08 +0.4
60m M35 1 50 0057 & ZH 38 5 — 7.89 +0.2
60m M35 2 50 0071 & RE 38 B — % 8.60 +0.2
60m M35 3 50 0056 [FHE = 38 B - 9.10 +0.2
60m M35 4 50 0058 =M E&m 39 B — 9.42 +0.2
60m W45 1 50 0084 —3H BAF 48 L — 9.49 -0.9
60m W45 2 50 0104 H¥E RIT 47 T — % 9.89 -0.9
60m W40 1 50 0099 K& Ef 41 Zz  — #& 9.97 -0.9
60m W35 1 50 0097 EA FR 36 T — g 9.45 -0.4
60m W30 150 0089 /\K [BF 30 & — & 9.08 -0.4
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FIEFEHEBEEM KRR YR —XELERERE

St HR 35 - KRR T AR 50 ekt e b 3 4335 (273090) #H  H:ER27F6827H (LX)
PR V3R BB FN— K4 ER MRl PR EC8% LR ks
100m M70 1 50 0085 PHA H— 70 B — #% 21.52 +0.5
100m M60 - 50 0112 Jb# =T 64 B — #% DNS

100m M50 1 50 0113 #1U &7 53 B  — i 13.84 +1.9
100m M50 2 50 0069 @i IEA 51 52— % 14.31 +1.9
100m M45 1 50 0081 A 7 49 B - i 13.04 -0.2
100m M45 2 50 0062 Hi3E #© 47 B - 13.13 -0.2
100m M45 3 50 0068 /NE R 49 B — & 13.79 -0.2
100m M45 4 50 0061 ;XA HE 47 B - B 14.00 -0.2
100m M40 1 50 0086 E;&E M= 4 B — % 12.99 -1.0
100m M40 2 50 0091 & B2 43 5 — 13.16 -1.0
100m M40 3 50 0078 & FNER 43 B - % 13.68 -1.0
100m M40 4 50 0060 ;KA 42 5 — 14.39 -1.0
100m M40 5 50 0100 BF F0i 490 B — i 14.75 -1.0
100m M35 1 50 0074 7F# {8 3/ B — 13.90 -0.9
100m M35 - 50 0066 ;EM HER 39 B - DNS

100m M35 - 50 0087 ElF 1&EF 38 B — # DNS

100m M30 1 50 0067 ALl MI# 33 B — 12.68 +1.1
100m W50 1 50 0065 ;i@ EF 53 & — f% 15.93 +0.8
100m W45 1 50 0084 —3 BAF 48 L — B 15.22 +0.8
100m W45 2 50 0104 H$E RIiT 47 & — f% 15.75 +0.8
100m W40 1 50 0098 F#kH F& 0 LT — B 14.76 +0.8
100m W40 2 50 0103 £8 BE 42 & — % 16.57 +0.8
100m W35 1 50 0096 HA® &F 39 & — B 1459 -0.1
100m W30 1 50 0089 /\XK [BF 30 & — f8 14.54 -0.1
200m M50 1 50 0092 EiE #i— 53 B — @& 31.87 +15
200m M45 2 50 0062 W3 #& 47 B - 27.07 -0.3
200m M45 1 50 0115 HiE —EB 464 5B — % 26.92 -0.3
200m M40 1 50 0091 % B2 43 B — 26.88 +0.1
200m M40 - 50 0086 BiE & 4 B —#& DNF

200m M35 1 50 0105 A& L 37 B — & 26.14 +3.1 Gams®)
200m M35 - 50 0087 B &7 38 B -8 DNS

200m M30 1 50 0116 A Hf— 31 5 — 23.62 -0.6
200m M25 1 50 0077 HE #h 29 B - % 23.81 -0.6
200m W50 1 50 0065 stf EF 53 & — & 33.37 +1.3
400m M65 - 50 0111 =# £ 65 B — @& DNS

400m M50 1 50 0092 LiE #fi— 53 B — f  1.10.09

400m M45 1 50 0118 M F & 45 B — & 10932

400m M45 - 50 0061 EHE £& 47 B - DNS

400m M30 1 50 0116 A HfE— 31 5 — 51.97

400m M25 - 50 0077 BE # 29 B — #8 DNS

800m M45 1 50 0118 F & 45 B — & 23521

800m M40 1 50 0093 Z#FT #A7 41 B — i 21649

800m M40 - 50 0094 ;IO BEid 43 B - DNS

800m M40 2 50 0107 #&JIl & 43 B — & 23343

800m M30 1 50 0082 B)3R #A—ER 32 B — fig 22968

800m W24- [ 1 50 0110 = =¥ 22 @ — fF 23489

1500m M65 1 50 0076 fxO RHE 69 B — & 64571

1500m M55 - 50 0075 g = 5 B — i DNS

1500m M50 - 50 0080 £5K 2 51 5 — & DNS

1500m M35 2 50 0072 AR HE 38 B —f 51862

1500m M35 1 50 0064 P;R4E B2 35 B — 50335

1500m M30 2 50 0067 ALl R 33 B — 52231

1500m M30 1 50 0082 €)3 #—ER 32 B — & 50054

1500m M25 - 50 0073 /MhEBF EZ 29 B — #% DNS

1500m W50 1 50 0090 ZEI1l +&5%E 54 & — fi8 54158
3000m M50 1 500101 2B [E#i 50 B — f& 112659
3000m M50 - 500080 f#hiK f# 51 5 — & DNS

3000m M40 1 500079 /& Ez a1 B — i 124074
3000m W50 - 500090 Bl +EFEE 54 & — & DNF

3000m W50 1 500106 F&JIl ¥4 51 & — % 13.32.31
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B BeIs | ARR AT AR BB ek i Bk b 54545 (273090) # B:TH21F6A27H (1)
PR V3R BB FN— K4 ER MRl PR EC8% LR HinixE
5000m M55 - 500075 g # 5 B — #% DNS

5000m M50 2 500063 X% #MF 54 B — & 211992
5000m M50 - 500083 A& ER® 53 B - i DNS

5000m M50 1 500080 £k f## 51 B — % 194648
5000m M50 - 500101 2B Ei 50 B - #& DNS

5000m M40 1 500107 REJIl & 43 B  — 204502
5000m M40 2 500079 B Ex2 41 5 — & 222323
5000m M35 1 50 0074 7=#d & 36 B — fF 184779
5000m M24- 1 500088 [LUMH IKIE 19 B — %  18.18.02
100mH M55 1 500120 KH = 58 5 — 18.49 +1.4
110mH M45 1 50 0068 /NE H% 49 B — f& 30.46 +0.4
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